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Method for Human Error Identification Based on
Operation Process Diagram
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(Department of Automatic Control, National University of Defense Technology, Changsha 410073)

Abstract A concept of Operation Process Diagram(OPD) is presented and the means of how to identify human error using OPD is discussed. The
three basic modules of OPD are illustrated. And, the means of OPD construction and human error identification are presented. The error
identification results are identical to the results from even tree. The OPD’s advantage over event tree and further research are discussed.
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